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CH2: THOHOI A (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
[Ea 876,000
O 7& NHMHASIHE R EHIAL 3,220,000
[ 2,300,000
= 920,000
03 A2 CHYI 40,000 36,000 4,000
O 0F NAMHAZEHLX T SHIA 3,000
O X NAMMASIHLX 7 SHIAI 5,000
O s NAMHASEMNLX T JHIAL 12,000
O 7& NAMHASHLXF ZHIA 20,000
Mol I XIS HHI(S3AHKI) 200,000 336,000 A136,000
s 100,000
== 40,000
o 60,000
401 AIEHIZ R OHYI 200,000 336,000 136,000
= 100,000
= 40,000
o 60,000
01 A28l 200,000 336,000 136,000
O wE3KT SS AL ZHIALE 200,000
[ 100,000
= 40,000
[Ea 60,000
A0t AUIEAF2CIAIAY AFAY 350,000 350,000 0
[ 175,000
o 175,000
401 AIEHIZ SR HYI 350,000 350,000 0
= 175,000
T 175,000
01 Al&HI 350,000 350,000 0
O 40t ADEASZCIALEY FHEAL
70,000,000 *AOFEHIFAI ABSH A
350,000
= 175,000
= 175,000
ASEEHI(HEAIY) 3,348,000 1,503,000 1,845,000
401 AIEHIX 20HH 3,348,000 1,503,000 1,845,000
01 A28l 3,335,970 1,493,000 1,842,970
O gtEaotd HHIAE
2,000,000 *372.655m 745,310
O EHAotd HHIAKY
2,000,000 622 76m 1,245,520
O H&4o6td FHIA
2,000,000 *498. 2m 996,400
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2A:

H: el
S THoH Ol ALY (SH9 H2)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
O EZ240td FHIAE
149,460,0003 A A2 H S 14 149,460
O &SA0td FHIAE
199,280,0003 A A2 HS S 14 199,280
03 Al 20HHI 12,030 10,000 2,030
O BtEA0HE FHIAMY ALY 2,690
O A0t ALY AIZ 208 4,480
O AeiAotd FHIAE AIZ 28I 3,600
O Z2A0otd ZHIAIE AIZ 28I 540
O 2S20td ZHIME AE20HI 720
20otd FX2el 700,000 1,000,000 A.300,000
401 Al HIZL S 0HYI 700,000 1,000,000 A300,000
01 Al&H| 350,000 500,000 /150,000
O Zotd =Al2el
14,000, 000& +25JH 2 350,000
03 AIZ2THYI 350,000 500,000 150,000
O 4ol ole=d Fdletts 350,000
=8 BoF 2228 ¥ mA2d 300,000 300,000
403 AXIEHMSAH=201H 300,000 300,000
02 SVI2S0 U H=E 2 E AL 300,000 300,000
O =8 88y 2e2E & Az 300,000
o= AL 1,032,454 496,970 535,484
= 601,727
s 80,000
s 360,727
MHolAlE= S+ 204,817 271,068 66,251
201 2= 87,176 140,936 A53,760
01 At22t2lt] 78,776 78,776 0
O THATHIIGH A & S 2 82X
M 22,0002 ~60 1,320
O S20HAlHI 8,000 x4 »108! 3,45
O 838 4248 257 4,000
O B+=EXL & 20,000,000& »24! 40,000
O s==7 JHIgxz 30,000
02 S5=2g4l 8,400 62,160 A\53,760
O MaloigAlde 3323(&II)
700,000 1200 & 8,400
202 048l 2,141 2,500 A359
01 2L AL 2,14 2,500 A359
O S7XE 824 2&0i| 2,141
302 OI==H a2 &= 15,500 16,500
02 2t S HES2a=3 15,500 15,500
Ss57 22 Ul « =2l 4,000
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FA HESE
B ogEs ¥ 2327
CHl: THoHSPALY (St &)
RA B - SRA(E) - MIRAR - B ol &4 e HIDEY
O 8=+ &l Xzl 5,000
O s==+ Sl 2,000
O &85+ *&U 4,500
401 AIEHIZ SR HYI 100,000 100,000
01 A&l 100,000 100,000
O Mooy & Ss=7 A 100,000
S==ofl CHHI 1,910 1,902
201 L2 1,910 1,902
01 AtR2telbl 1,910 1,902
O S2+oi2e 222 A
600 +1,3500H 810
O S+oli=28 i M
50,0002 * 1404 700
O E=oi=2" M ME
20,0003 x202 400
2ol 2 224,000 224,000 0
== 80,000
= 144,000
307 212+01™ 224,000 224,000 0
= 80,000
i 144,000
06 2= 224,000 224,000 0
O S=oll28 RE= 224,000
S 80,000
ia 144,000
HaHAIEE =SR(EX) 601,727 0 601,727
= 601,727
401 AIEHIZL 2 THYI 601,727 0 601,727
= 601,727
01 A=l 601,727 0 601,727
O &oIAGHE THOH=S AN ('23. 6.27.~7.19. &
f 2 EHHE b= mh=E+) 142,891
= 142,891
O dEA6H THol=S7PANE('23. 6.27.~7.19. &
f 2 EHE b= mh=E+) 108,015
= 108,015
O WUXIAGHE THoH=FAE('23. 6.27.~7.19. &
f 2 HHE Itz Wa=+) 115,487
= 115,487
O SRA6HE HHSTAE('23. 6.27. 7.~7.19.
52 % B8 It Olai=7) 127,140
= 127,140
O =ZA0td THHSTAIHE('23. 6.27.~7.19. &
f 2 HE Itz La=+) 108,194
= 108,194
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SN SR
R BHE THOH O 2 AL
Che: ot &el EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
OF& XHoH Gl &AL 34,450,421 21,103,020 13,347,401
= 741,162
= 22,732,800
= 10,976,459
ote2el 988,116 799,520 188,596
[l SESONRELE 988,116 799,520 188,5%
201 er2 3| 9,000 2,760 6,240
01 AtR2telHl 2,400 1,800 600
O otegR=d S20ALI
8,000 x5S+ 12043 2,400
02 s3=gHl 6,600 960 5,640
O Xotd otdAlE=E &IIR=s
300,000 * 122 3,600
O otdacl8 2SI R
3,000,000 *14] 3,000
202 048l 5,116 1,760 3,356
01 2L AL 5,116 1,760 3,3%
O otdac| gf=d= et 20l 5,116
401 AIEHIZ SR HYI 974,000 795,000 179,000
01 Al&HI 674,000 495,000 179,000
O XsHd RR2L
20,000,000 1574 2~ 300,000
O Z=d Xgotd otef =LA 200,000
O SYAN U 2GS S 3K B
200,000 2004 A 4,000
O dEiotd 2el & 2LIEE
50,000,000 *3JH 2 150,000
O Sd=MHFE 0188 Ngeg =&
] 10,000,000& 23| (& BEI| GHEtI1) 20,000
03 AIZSTHYI 300,000 300,000 0
O ofd otatEd ZHHl IXZ(14HEH)
25,000,000 *12km 300,000
ot &Hl 33,462,305 20,303,500 13,158,805
= 741,162
S 22,732,800
o 9,988,343
S MY RN 860,000 1,370,000 510,000
== 430,000
o 430,000
401 AIEHIZ SR OHYI 860,000 1,370,000 /510,000
[ 430,000
T 430,000
01 Al&HI 860,000 1,370,000 /510,000
O ot M FE2+ 860,000,000 860,000
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SN SR
= ol IHoH Ol 2ALS
chl: ol &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 430,000
s 430,000
DEE XU ZHI(HEALY) 4,000,000 1,000,000 3,000,000
= 2,800,000
Ea 1,200,000
401 AIEHIX R0 4,000,000 1,000,000 3,000,000
=S 2,800,000
s 1,200,000
01 AlZ28| 3,987,000 1,000,000 2,987,000
O 1&A Xgotd FHIA 3,987,000
< 2,800,000
[Ea 1,187,000
03 Al 20HHI 13,000 0 13,000
O AIEZ20HHI 13,000
A Lot (HEAIY) 5,948,000 2,000,000 3,948,000
= 4,163,600
o 1,784,400
401 Al HIZ S OHbI 5,948,000 2,000,000 3,948,000
s 4,163,600
s 1,784,400
01 Al&HI 5,936,000 1,996,000 3,940,000
O Zgd Xigotd A 5,936,000
[ 4,163,600
T 1,772,400
03 A2 THYI 12,000 4,000 8,000
O A 20bl 12,000
FAHE XU HHI(HEALY) 10,733,143 4,000,000 6,733,143
=S 7,513,200
s 3,219,943
401 Al HIZ R 0HHI 10,733,143 4,000,000 6,733,143
== 7,513,200
[Ea 3,219,943
01 Al&HI 10,720,143 3,995,000 6,725,143
O =&A Xgotd FHIAE
10,720, 143,000 10,720,143
= 7,513,200
= 3,206,943
03 Al =2 THHI 13,000 5,000 8,000
O AlZ 20| 13,000
2Ed NLSHHAZHIAS (D EAY) 6,680,000 2,000,000 4,680,000
== 4,676,000
[Ea 2,004,000
401 AIEHIZ R HYI 6,680,000 2,000,000 4,680,000
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SN SR
BB BHE THH O 2 ALY
chl: ol &l EER=E)
SA - ZE . BR(8) - HRAR - BES of v e HIDE2
< 4,676,000
s 2,004,000
01 Al&H| 6,668,000 1,996,000 4,672,000
O Zgd Xgotd A 6,668,000
= 4,676,000
o 1,992,000
03 AIESTHYI 12,000 4,000 8,000
O Al =0yl 12,000
CS3 XLotEEHIAI (M EAY) 4,500,000 6,000,000 1,500,000
[ 3,150,000
Ea 1,350,000
401 Al HIZL 201 4,500,000 6,000,000 1,500,000
== 3,150,000
= 1,350,000
01 Al&HI 4,487,000 5,996,000 /1,509,000
O =5& Ngotd A 4,487,000
= 3,150,000
Ea 1,337,000
03 AlESTHYI 13,000 4,000 9,000
O A2yl 13,000
Mol = AHS 741,162 0 741,162
= 741,162
401 AIZHIX R0 741,162 0 741,162
= 741,162
01 Al&H| 741,162 0 741,162
3388 A THH=S2AIE('23. 6.27.~7.19.
S22 % HE 3tz Tlai=7) 255,041
= 255,041
O A AFEA THOH= A ('23. 6.27.~7.19.
52 % 1 Sk Dois+) 149,957
= 149,957
O 238Y S+& M= AE('28. 6.27.~7.19.
52 ¥ HE 3t= Tlai=7) 119,776
= 119,776
O D¢ BXHE MW= AE('23. 6.27.~7.19.
52 ¥ HE 3t= Tei=7) 84,426
= 84,426
O ot AHE A THOHS A (123, 6.27.~7.19.
52 ¥ HE 3t= T=7) 41,155
= 41,155
O D=8 AF=d THOHS A ('23. 6.27.~7.19.
52 ¥ HE 3t= Te=7) 27,09
= 27,099
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HOZEALS

X XH

of
i’
oF
uJ

S D
o = RO
RJ R R
oJ o 16

=

-

KIO

Hlw

83,464

A\83,464

382

49,536

348

N846
N\846

MEE
Ofl &k2h

193,946

193,946

39,946
20,964

16,233

4,731

5,742
5,742

13,240
11,080

Ofl &F2H

27,637
27,637

i

36,071
36,071
105,482

i

8,000
97,482
105,482

i

8,000
97,482

fir

21,346
16,267
3,000
1,440
1,000
3,887
4,940
1,080
360
2,400
800
300
2,000
5,079

135
720
1,848
4,8%
4,8%
4,8%
13,240
11,080

2,376

- ESS

- SRA(E) - HIRAY

S - B

10y
n0

fr
Jo
0lo

Jo

Kl
oFJ

Kk

oF
3D

10
%

10

Kl
g

30,0002 «100%
8,000 »3& *602
60,0002 * 180K
1,000 *360F
400,000 *6CH
1,0002 300

01 AtR2telb]

30
0B

ol
i
&l

rH
bl
&J
op
oK
ioJ

30
0K
[H0
M0

ANAE SHes

ok
A0
i
&0
o0
<0
Jo

10

2,7003 50

198,000& « 122

15,0002 ~40H~ 122
11,0002 »14LH+ 122

geelil Mliea

01 S0

202 04|

KJ
Kt

O
ol
0
%

0

Kl
8!

xr
K0

1,080
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